

$$a + aq + aq^2 = 21$$

$$a(1 + q + q^2) = 21$$

$$a \times (aq)(aq^2) = 96$$

$$(a^3 q^3) = a^3 q^3 = 96$$

$$aq = 96$$

$$\frac{96}{q} + 96 + 96q = 21$$

$$96 + 96q + 96q^2 = 21q$$

$$96q^2 - 17q + 96 = 0$$

$$q = \frac{17 \pm \sqrt{17^2 - 4 \times 96 \times 96}}{2 \times 96}$$

$$q = \frac{17 \pm \sqrt{289 - 36864}}{192} = \frac{17 \pm 191}{192}$$

$$\frac{17 - 191}{192} = \frac{-174}{192} = -\frac{29}{32}$$

$$(x^2 + 4)(x^2 - 2) = (2x)^2 = 4x^2 \rightarrow x^2 = 2$$

$$x^2 + 2x^2 + 4x^2 - 2 = 4x^2$$

$$x^2 + 2x^2 - 2 = 4x^2$$

$$x^2 - 2 = 2x^2$$

$$x^2 - 2x^2 - 2 = 0$$

$$x = \pm 2$$

$$S_V = \frac{12V}{1 - \left(\frac{1}{2}\right)^V}$$

$$a + aq + aq^2 + aq^3 + aq^4 = ?$$

$$a(1 + q + q^2 + q^3 + q^4)$$

$$121 \times \frac{121}{4} = 363$$

$$d = \frac{96 - 1}{\omega + 1} = \frac{95}{\omega + 1} = \frac{\sqrt{2} \times \sqrt{2}}{\sqrt{2} \times \sqrt{2}} = \frac{1}{2}$$

$$a_f = a + rd = 1 + 3\left(\frac{1}{2}\right) = 1 + \frac{3}{2} = \frac{5}{2}$$

$$q^2 = \frac{96}{1} = 96 \Rightarrow q = \pm 2$$

$$1 - 2 = -1$$

$$0 - 2 = -2$$

$$\frac{96}{2} + \frac{19}{2} = \frac{115}{2} = 57.5$$

$$\frac{96}{2} - \frac{19}{2} = \frac{77}{2} = 38.5$$

$$\frac{-96}{\omega} = \frac{-96}{\omega}$$

$$121 \times q^2 = 1$$

$$q^2 = \frac{1}{121}$$

$$q = \frac{1}{11}$$

$$d = \frac{1}{\omega}$$

$$a_{101} = a + 100d$$

$$-24 + \frac{100}{\omega} = -24 + 100 = 76$$

$$a + r_d \quad a + q_d \quad a + \lambda_d$$

$$q_1 + a q = a r + a r$$

$$-1 + (1 + \lambda_d) = -1 + r_d + (-1 + q_d)$$

$$(a + r_d)(a + q_d) = (a + \lambda_d)^r$$

$$a^2 + \underbrace{\lambda a d + r a d + 1 q d}_1 = a^2 + r a d + r q d$$

$$-r a d = r a d$$

$$-r a d = r a d \quad -r a d = r a d$$

$$d = \frac{r a}{r}$$

$$(a + d)(a + v_d) = (a + r_d)^r$$

$$a^2 + v a d + a d + v d^r = a^2 + r a d + r d^r$$

$$r a d = r d^r$$

$$r a = r d$$

$$a = d$$

$$a + d \quad a + r_d \quad a + v_d$$

$$a_1 = a q^1 = \frac{1}{\epsilon} \times r^1 = \frac{1}{\epsilon} \times r = \frac{1}{\epsilon} r$$

$$r a q \quad r a q^r \quad a q^r$$

$$r a q + a q^r = r a q^r + r a q^r$$

$$r a q + a q^r = \epsilon a q^r$$

$$a q^r - \epsilon a q^r + r a q = 0$$

$$q^r - \epsilon q + r = 0$$

$$(q - \epsilon)(q - 1) = 0 \Rightarrow q = r$$

$$r, \frac{v}{\epsilon}, \frac{q}{\epsilon}$$

$$d = -\frac{1}{\epsilon}$$

$$a_f = a + r_d = r - \frac{r}{\epsilon} = \frac{a}{\epsilon}$$

$$a_1 = a + v_d = r - \frac{v}{\epsilon} = \frac{1}{\epsilon}$$

$$a_r = a + r_d = r - \frac{r}{\epsilon} = -1$$

$$\frac{a}{\epsilon} + r \quad \frac{1}{\epsilon} + r \quad -1 + r$$

$$\left(\frac{a}{\epsilon} + r\right)(-1 + r) = \left(\frac{1}{\epsilon} + r\right)^r$$

$$\frac{-a}{\epsilon} + \frac{a}{\epsilon} r - r + r^r = \frac{1}{\epsilon} + r + \frac{1}{\epsilon} r$$

$$\frac{-a}{\epsilon} + \frac{1}{\epsilon} r + r^r = \frac{1}{\epsilon} + r + \frac{1}{\epsilon} r$$

$$\frac{1}{\epsilon} r = -\frac{r}{\epsilon} - \frac{1}{\epsilon}$$

$$\frac{1}{\epsilon} r = -\frac{r}{\epsilon}$$

$$r = -\frac{1}{\epsilon}$$

$$q = -\frac{a}{\epsilon} = \frac{a}{\epsilon}$$

$$a + a + d + a + q_d = v r$$

$$r a + 1 d = v r$$

$$r + 1 d = v r$$

$$1 d = v$$

$$d = v$$

$$a + a q^r + a q^q = v r$$

$$a = 1 \quad a(1 + q^r + q^q) = v r$$

$$a + d = a q^r \Rightarrow d = a q^r - a$$

$$a + q d = a q^q \quad d = a(q - 1)$$

$$a + q a(q - 1) = a q^q$$

$$1 + q(q - 1) = q^q$$

$$q^r = t$$

$$t - q t + 1 = 0$$

$$(t - 1)(t - 1) = 0$$

$$q = 1 \quad q^r = 1$$

$$q = 1 \quad q = r$$

$$d = a(q - 1) = 0$$